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İngilis dili 
 

1. How many variants are correct? 

The hotel …was right on the beach. 

1. where we stayed in             2. which we stayed in 

3. that we stayed in                 4. in which we stayed 

5. in that we stayed                 6. where we stayed 

7. which we stayed                  8. that we stayed 

9. we stayed                            10. we stayed in 

A) 4             B) 5      C) 6       D) 7               E) 8 

 

2.Choose the correct variant. 

As the patient felt bad, … . 

1. the doctor was advised her to lose weight 

2. the doctor advised her to lose weight 

3. she was advised the doctor to lose weight 

4. she was advised by the doctor to lose weight 

5. the doctor’s advise to her was to lose weight 

6. the doctor’s advice to her was to lose weight 

A) 1, 3, 5           B) 2, 4, 6           C) 1, 2, 5 

D) 2, 3, 5           E) 1, 3, 4 

 

 

3.Choose the correct variant. 

1. Ali talks such nonsense … . 

2. I myself can’t repair the dishwasher … . 

3. I’m looking for something … . 

a. that has broken down. 

b. that no one listens to him any more. 

c. that I can clean the board with. 

A) 1-a, 2-b, 3-c         B) 1-c, 2-b, 3-a 

C) 1-c, 2-a, 3-b          D) 1-b, 2-c, 3-a 

E) 1-b, 2-a, 3-c 

 

4.Choose the correct variant. 

A) Gold is a kind of precious metal. 

B) A gold is kind of the precious metal. 

C) Gold is kind of an precious metal. 

D) A gold is kind of a precious metal. 

E) The gold is a kind of an precious metal. 

 

 

 

5.Choose the correct variant. 

 I would like ... . 

1. an orange 

2. an orange juice 

3. orange juice 

4. a glass of orange juice 

5. glass of orange juice 

6. a glass of an orange juice 

A)1,2,3  B)4,5,6    C)1,3,4 

D)2,5,6  E)1,2,6  

 

6.Choose the correct variant. 

Teachers usually like students ... are ... talented 

... hardworking. 

A) that, --, or 

B) who, not only, but also 

C) which, not only, but also 

D) what, --, and 

E) whom, both, and  

 

7.Choose the correct sentences. 

1. Traffic jam made us to go on foot. 

2. He made a decision to leave the work. 

3. I didn’t expect him to come in time. 

4. He couldn’t see him to dance. 

5. Nobody in Mary’s family wanted her to marry  John. 

6. I heard him to call me 

A) 1, 3, 5      B) 2, 4       C) 1, 5, 6 

D) 2, 3, 5      E) 1, 4, 6 

 

8.Choose the correct sentence with the Verbal Noun. 

A) How are you feeling now? 

B) Feeling tired and ill, I refused to go with them 

C) I have such a feeling that he will come soon 

D) After eating a spoilt dish he began feeling sick 

E) Everything has happened because of his own fault, so 

stop feeling sorry for him  

 

9.Choose the sentences with the Participle II 

1. Life must be uncomfortable for people 

living near busy airports 

2. I found my lost purse under the bed 

3. I have a sister studying English at university in 

London 

4. Most of the suggestions made at the meeting 

by us weren’t accepted 

A) 1, 2     B) 3, 4       C) 1, 4     D) 2, 4     E) 2, 3 

 

10. Choose the correct form of the verb. 

You need … these windows. They are very 

dirty, they really need … . 

A) to clean, to clean 

B) to clean, cleaning 

C) cleaning, to be cleaned 

D) have cleaned, to be cleaned 

E) clean, clean 
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11. Choose the correct variant. 

Your car engine is making some strange sounds. Why 

don't you have a mechanic ____ at it  

A) to look 

B) looking 

C) looked 

D)look 

E) looks 

 

12. Choose the correct variant. 

- … . 

- So did I. 

1. Elnara had to finish the work quickly. 

2. They were offered another flat to stay. 

3. She had left when Mansur rang. 

4. Mansur  had a bicycle when he was a child. 

5. Elnara cut her finger while doing the 

washing-up. 

6. He waited for him no more. 

A) 1, 3, 5 B) 2, 4, 6 C) 1, 4, 5   D) 2, 3, 6 E) 1, 2, 6 

 

 

 

13. Choose the correct variant. 

1. Which man want to see the manager? 

2. Which man does want to see the manager? 

3. Who wants to see the manager? 

4. Which man wants to see the manager? 

5. How many men want to see the manager? 

6. How many men do want to see the manager? 

A) 1, 5  B) 2, 4, 6 C) 3, 4, 5  D) 1, 3 E) 2, 3, 6 

 

 

 

14. Choose the correct negative sentence. 

A) Nobody knows the owner of that house and 

neither am I. 

B) She gave me not only money but also bread. 

C) I had no dog and cat in my childhood. 

D) We haven’t got to wait for him for a long time. 

E) He needn’t anybody’s advice, either.  

 

15. Choose the correct exclamatory sentences. 

1. What sweet cakes Nazrin baked! 

2. What a sweet cake did Nazrin baked! 

3. How popular this actor is! 

4. How popular is this actor! 

5. What popular this actor is! 

A) 1, 4   B) 2, 4     C) 1, 3    D) 3, 5    E) 2, 5 

 

 

 

 

16. Choose the correct variant. 

The regulations require you ___ your full tuition before 

classes start. 

A)paid  B) paying   C) to pay   D) pay  E) was paying 

 

 

17. Choose the correct imperative sentence. 

A) Khanim, makes her bed herself 

B) Khanim, doesn’t make her bed herself 

C) Khanim, make your bed yourself 

D) Khanim, make her bed herself 

E) Khanim, never makes her bed herself 

 

18. Choose the correct answer in the Passive 

Voice. 

- Do they let you take part at the conference? 

- … . 

A) Yes, they are let us take part at the conference. 

B) Yes, we are let to take part at the conference by them. 

C) Yes, we let them take part at the conference. 

D) Yes, we permit them to take part at the conference. 

E) Yes, we are permitted to take part at the conference 

by them. 

 

 

19. How many variants are correct? 

My friends hardly ever read newspapers. ... . 

1. Nor did mine          2. Neither do mine 

3. Mine don’t either    4. Mine didn’t either 

5. But mine did            6. But mine do 

7. So did mine              8. Mine do too 

A) 2       B) 3        C) 4        D) 5     E) 6 

 

20. Choose the correct sentence in the Passive 

Voice. 

Neither teacher praises Ali. 

1. Neither teacher is praised Ali. 

2. Either teacher isn’t praised Ali. 

3. Ali isn’t praised by either teacher. 

4. Ali isn’t praised by neither teacher. 

5. Ali is praised by neither teacher. 

A) 1, 2      B) 3, 4      C) 1, 5        E) 3, 5     E) 2, 4 

 

21. Choose the correct variant. 

You ... so much fast food because you have 

stomachache 

A) shouldn’t have eaten 

B) have had been eaten 

C) don’t have had to eat 

D) had hadn’t  to eat 

E) hadn’t be able to eat 
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22.Choose the correct variant. 

I ... round and ... that somebody ... his bag on 

the bench. 

A) looked, saw, would leave 

B) looked, had seen, was leaving 

C) have looked, was seeing, has left 

D) looked, saw, had left 

E) look, see, have left 

 

 

23. Choose the correct variant. 

When Gozal got up in the morning, … . 

1. it was snowing heavily since last night. 

2. it had snowed heavily last night. 

3. it had been snowing heavily since last night. 

4. it was snowing heavily. 

A) 1, 2 B) 2, 3 C) 3, 4   D) 1, 4 E) 1, 3 

 

 

24. Choose the correct variant. 

They put a lot of flowers … the foot … the 

monument … Nizami Ganjavi. 

A) in, to, for         B) to, off, to 

C) under, of, by   D) at, of, to   E) on, of, of 

 

 

25. Choose the correct variant. 

The students will be … if they study very … 

and they can pass the exam … than the others. 

A) successfully, hardly, much easily 

B) successful, hard, more easily 

C) successful, hardly, much easier 

D) successfully, harder, more easily 

E) successfully, more hardly, easier 

 

 

 

26. How many variants are correct. 

1. enough cool water 

2. an enough cool day 

3. enough cool days 

4. enough an cool day 

5. cool enough day 

6. a cool enough day 

7. cool enough days 

8. cool enough water 

A) 3   B)7   C)6    D)4   E)5 

 

 

 

 

 

 

 

27. Choose the correct variant. 

If you … me, I … long before. 

A)phoned, should have come 

B)phone, should have come 

C)had phoned, had come 

D)had phoned, should have come 

E)had phoned, would have come 

 

 

28. Choose the correct sequence of adjectives. 

A) A small new brown  round wooden writing table. 

B) A small new round brown wooden writing table. 

C) A new brown small round wooden writing table. 

D) A new round brown small wooden writing table. 

E) A small new brown wooden  round writing table. 

 

 

29. How many variants are correct. 

1. to lie to somebody 

2. to lay to somebody 

3. to lay an egg 

4. to lay the table 

5. to lie the book on the table 

6. to lay the book on the table 

7. to lie under the tree 

A) 5   B)7   C)6    D)4   E)3 

 

 

 

30. Choose the logically correct sentence. 

-Sabina  never changes her mind about anything 

whatever I say. 

- 

A) She is rather a reserved person. 

B) She is so stubborn. 

C) She is a very envious girl. 

D) She is the most industrious girl I have ever known. 

E)  She is one of my easy-going classmates. 

 

 

 

31. Choose the correct variant. 

1.One of my sister is working on her new project. 

2. There are no any  interesting programmes on  tonight. 

3.A great number of  holidays are celebrated in 

Azerbaijan. 

4.Most of my cousins has passed the exam. 

5. The  children share theirs toys in the kindergarten. 

6. All of the passengers were questioned by the police. 

A) 2,3,6            B) 3,6      C) 1,2       D) 3,4,6    E) 1,2,5 
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32. Make up a story. 

1. He had a large piece of meat in his mouth too. 

2. There was a little bridge over it. 

3. What he saw was his own reflection in the clear water. 

4. A dog with a large piece of meat came to a river. 

5. While crossing the bridge he looked down and saw 

another dog. 

6. But instead of getting anything, he lost his own meat. 

7. He dropped his own meat and tried to take the other. 

8. The dog decided to cross the bridge. 

A) 4, 2, 8, 5, 1, 3, 7, 6         B) 4, 8, 7, 5, 1, 3, 2, 6 

C) 8, 5, 3, 7, 4, 6, 1, 2          D) 8, 7, 3, 1, 5, 4, 2, 6 

E) 4, 3, 7, 1,5, 8, 6, 2 

 

 

 

 

 

33.“…” and “…” have the opposite  meanings. 

A) obtain, achieve 

B) cautious, chilly  

C) attractive, fertile 

D) artificial, authentic 

E) squeeze, compress 

 

 

 

34. Choose the correct articles.  

Have you heard of ... George Washington? - He is 

... first President of... United States. 

A) the, the, the   B) a, the, - 

C) -, a, the    D) -, the, the         E) -, the, - 

 

 
 

35. Choose the logically correct variant. 

- Why do you dislike Mike so much? 

- Because he never… 

A) insults anybody                  B) tells lies        

C) does anybody any harm     D) keeps his promise 

E) mocks at others. 
 

 

 

 

 

 

 

 

 

 

Read the passage and answer the questions 36-40 

Anorexia is an eating disorder which is characterized by 

unusually low body weight, food self-deprivation, a 

severe fear of gaining weight, and a craving to be thin. 

Even though people suffering from anorexia are 

underweight, they consider themselves as obese. The 

causes of anorexia are not clearly identified. Specialists 

recognize that there are at least two types of factors that 

lead to this type of eating disorder, namely genetic 

predisposition and cultural factors. It has been proven 

that identical twins are more often affected than non-

identical ones. Besides, it seems that anorexia is more 

widely spread in societies that highly value thinness. 

Also, this eating disorder occurs more often among those 

people who are involved in careers such as modeling, 

athletic performance, and dancing. The treatment of 

anorexia is threefold: medical, nutritional and 

psychological. The primary focus is to address any 

serious health problem that may have emerged from the 

eating disorder. Additionally, the treatment focuses on 

restoring weight to its healthy level through a 

personalized diet and education about normal eating 

patterns. Patients have also to undergo a therapy that 

involves addressing and healing from traumatic life 

events. In addition to that, patients have to learn 

healthier strategies. Finally, medications may be used to 

help with anxiety or depression. 

 

36.The passage is mainly about… 

A) Traumatic events in life 

B) A personalized healthy diet for obese people 

C) Medications against depression 

D) An eating disorder  

E) Serious health problems in the world 

 

37.Which question has no answer in the passage? 

A) How many kinds of treatment are used for anorexia? 

B) What are the characteristic features of eating 

disorder? 

C) Why does anorexia affect identical twins more? 

D) In which careers is anorexia observed more? 

E) Which factors cause anorexia? 
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38.Choose the correct statements according to the 

passage. 

1.Genetic factors don’t play a role in eating disorder. 

2.It is possible to restore weight by means of a 

personalized diet. 

3.A therapy that heals from traumatic life events is also 

used  for anorexic patients. 

4.The societies in which anorexia is widely spread 

highly value obesity. 

5.The people suffering from anorexia consider 

themselves as fit and thin. 

A) 1,2            B) 2,3,5            C) 1,3,4        D) 2,3           

E) 2,5  

 

39.The underlined pronoun “they” refers to…. 

A) specialists                               B) identical twins 

C) people with anorexia.               D) patients 

E) healthier strategies 

 

 

40.Which word in  the passage means “the use 

of drugs, exercises, etc. to cure a disease”? 

A) treatment                      B) anxiety 

C) predisposition               D) craving 

E) disorder 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

Kurikulum 
41. Atəş müəllim sinifindəki şagirdlərə  

 “Ana Vətən” mövzusunda şifahi mətn qurmağı 

tapşırdı. Hansı dərketmə üsuluna aid olan şagird bu 

tapşırığın icrasında daha uğurlu nəticə göstərə 

biləcəkdir? 

A) lingvistik     

B) visual məkan  

C) naturalistik 

D) məntiqi riyazi 

E) Kinestetik 

 
 

42. Azərbaycan təhsil sisteminə nələr daxildir? 

A) Müəllimlər, layihə, kliniki strukturlar 

B) Şagirdlər, kliniki, ictimai iaşə strukturları 

C) İctimai iaşə, tibbi strukturlar, valideynlər 

D) İdman, istirahət kompleksləri, iaşə, tibbi strukturlar 

E) Kitabxanalar, yataqxanalar, müəllimlər,  

 

 

 

 

 

43.Təhsilin keyfiyyət səviyyəsini yüksəltməyin 

mühüm şərtləri hansılardır? 

A) Yaradılmış məzmun, hazırlanmış texnologiyalar, 

müəllim hazırlığı 

B) Müəllim-şagird əlaqələri, hazırlanmış texnologiyalar, 

müəllim hazırlığı 

C) Yaradılmış məzmun, hazırlanmış texnologiyalar, 

şagirdin mütaliəsi 

D) Hazırlanmış texnologiyalar, müəllim hazırlığı, şagird 

portfolisi 

E) Yaradılmış məzmun, müəllim hazırlığı, keçirilmiş 

tədbirlərin sayı 

 

 

 

44. Düzgün cavablar hansılardır? 

1. Məktəbəqədər təhsil bütün təhsil sisteminin 

bünövrəsini təşkil edir. 

2. Məktəbəqədər təhsil əsas təhsil hesab olunur. 

3. Məktəbəqədər təhsil 1-5 yaşlıları əhatə edir. 

4. Məktəbəqədər təhsil 1-6 yaşlıları əhatə edir. 

5. Məktəbəqədər təhsilin kurikulumu hazırlanmamışdır. 

A) 1,2     B) 1,3    C) 2,4   D) 4,5     E) 2,5 

 

https://dictionary.cambridge.org/dictionary/english/drug
https://dictionary.cambridge.org/dictionary/english/exercise
https://dictionary.cambridge.org/dictionary/english/cure
https://dictionary.cambridge.org/dictionary/english/disease
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45.Aşağıda qeyd edilənlərdən neçəsi  
“Azərbaycan Respublikasının ümumitəhsil 

sistemində Qiymətləndirmə Konsepsiyası” (13 

yanvar 2009) əks olunmamışdır? 

1. Şagird nailiyyətlərinin qiymətləndirilməsinin əsas 

xususiyyətləri. 

2. Qiymətləndirmə islahatından gözlənilən nəticələr. 

3. Qiymətləndirmə meyarları. 

4. Kurikulum uzrə qiymətləndirmə. 

5. Müəllim fəaliyyətinin qiymətləndirilməsi 

6. Milli qiymətləndirmənin məqsədləri 

 A) 1   B) 2  C) 3 D) 4  E)5 

 

 

46.Uyğunluğu müəyyən edin. 

1. Summativ qiymətləndirmənin məqsədi 

2. Diaqnostik  qiymətləndirmənin məqsədi 

3. Formativ qiymətləndirmənin məqsədi  

a.Təlim prosesinin planlaşdırılmasında şagirdi 

inkişaf xüsusiyyətlərini nəzərə almaq. 

b.Şagirdlərin təlim ehtiyaclarını öyrənmək 

c.Təlim prosesinin düzgün istiqamətləndirilməsini 

və səmərəliliyini təmin etmək. 

d.Hər hansı bir mərhələ üzrə şagirdin naliyyətinin 

səviyyəsini müəyyən edib qiymət yazmaq. 

A)1ac,2b,3d    B)1d,2bc,3a      C)1dc,2b,3a 

D)1d,2ab,3c    E)1ac,2d,3b 

 

 

47. Aşağıdakı fikirlərdən hansı doğru deyil? 

A) İnteqrasiyada ifrata varmaq, fənlə bağlı mühüm 

bilik və bacarıqların tədrisindən yayındıra bilər.  

B) Fənləri hansı model üzrə inteqrasiya etmək 

haqqında dərindən düşünmək və düzgün qərarlar 

qəbul etmək lazımdır. 

C) Bütün fənlər uzrə təhsilin müxtəlif pillələrində 

inteqrasiyaya eyni dərəcədə əhəmiyyət verilməlidir. 

D) Fərqli inteqrasiya modelləri muxtəlif nəticəyə 

gətirib cıxarır.  

E) İnteqrasiya edərkən  ayr- ayrı tədris vahidlərinə 

və ya ayr- ayrı fənlərə əsaslana bilərik. 

 

 

 

 

 

 

48. Aşağıdakı fikirlərdən hansı informasiyanın 

müzakirəsi və təşkili mərhələsinə aiddir. 

1. Butun bilik, bacarıq və vərdişlərin, təfəkkürün 

müxtəlif növlərinin (məntiqi, tənqidi, yaradıcı) 

səfərbərliyini tələb edir.  

2. Bu mərhələ vaxt etibarilə yalnız bir akademik 

dərslə məhdudlaşmaya da bilər, yəni onun həyata 

keçirilməsi sonrakı dərslərdə də mümkündür. 

3. Dərsdə əldə edilmiş bilik, bacarıq və vərdişlərin 

möhkəmləndirilməsi məqsədini güdən sərbəst iş 

formasıdır. 

4. Bu mərhələdə mövcud tədqiqat sualına cavabın 

cizgiləri aydın seçilməyə başlayır. Məlumatlar 

sxem, qrafik, cədvəl, təsnifat formasında təşkil 

oluna bilər. 

5. Biliyi möhkəmləndirir, onun praktiki 

əhəmiyyətini uşağa açıb göstərir.  

A) 4,5    B) 1,3       C) 1,4    D) 1,5   E)3,4 

 
 

 

 

49.Səhv olanı tapın. 

A) Hissetmə - hərəkətlərin icrasından əvvəl öz 

imkanlarını müəyyənləşdirir. 

B) Təqlidetmə - nümayiş etdirilən hərəkətləri təkrarlayır. 

C) Mexanizmin mənimsənilməsi – hərəkətləri qaydalara 

uyğun yerinə yetirir. 

D) Mükəmməl icra – bacarıq və vərdişləri nümayiş 

etdirir. 

E) Uyğunlaşma – hərəkətin icrası zamanı yaranmış 

problemi həll etmək üçün davranışında dəyişiklik edir. 

 

50. Doğru cavabı müəyyən edin. 

Müəllim nəyin köməyi ilə şagirdlərin ehtiyaclarını 

öyrənərək onlara əlavə köməklik göstərir? 

A) Fəaliyyətin 

B) İndikatorların 

C) Monitorinqlərin 

D) Tapşırıqların 

E) Nailiyyətlərin 
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51.Pedaqogikanın predmetinə aiddir: 

A) tərbiyəedici fəaliyyət 

B) estetik dünyagörüş 

C) pedaqoji cərəyanlar 

D) təhsil qanunu 

E) ümumtəhsil məktəbinin əsasnaməsi 

 

 

52. Burada kurikulumun hansı prinsipi pozulur? 

Atəş müəllim sinfindəki bəzi  şagirdlərin  

yaradıcılıq və innovativlik qabiliyyətinin zəif 

olduğunu bilirdi.  

A) İnteqrativlik  

B) Şagirdyönümlülük  

C) Şəxsiyyətyönümlülük 

D) Nəticəyönümlülük 

E) Tələbyönümlülük 
 

 

 

53. Doğru cavabı müəyyən edin 

Müəllimlər növbəti gün  keçəcəkləri dərsə uyğun 

təlim üsulu, forma, istifadə edəcəkləri  vasitələri 

müəyyən etmək  üçün ilk öncə nəyi bilməlidir? 

A) Məzmun xətti 

B) Əsas standart 

C) Alt standart 

D) Ümumi təlim nəticəsi 

E) İnteqrasiya 
 

 

 

 

54. Doğru cavabı müəyyən edin 

”Fikrin təhrik edilməsi və onun lazım istiqamətə 

yönəldilməsidir”. Fasilitasiyanın… 

A)Prosesidir 

B)Xüsusiyyətidir 

C)Funksiyasıdır 

D)Məqsədidir 

E)Roludur 

 

 

 

55. Piajeyə əsasən,Artifikalizm anlayışını göstərin. 

A)bütün əşya və hadisələri bir-biri ilə əlaqələndirmə 

B) ətraf aləmin və əşyaların canlı olmasına inam 

C) dünyanın insan tərəfindən düzəldilməsinə inam 

D) ətraf aləmin “mən” anlayışından ayrılmazlığı 

E) canlı və cansız varlıqları bir birinə qarışdırma  

 

56. Vıqotski- Yaxın inkişaf zonası  nəzəriyyəsinin 

xüsusiyyətləri. 

1. Vıqotski təlimin sosial kontekstlərinə çox diqqət 

verirdi 

2. Vıqotski müəllimin  təlim prosessində fəal rolu 

olduğunu  düşünürdü  

3. Vıqotski dərk etmə inkişafını qarşılıqlı əməkdaşlıqda 

görürdürdü 

4. Vıqotski müəllimin rolunun  məhdud olduğunu 

düşünürdü 

5. Vıqotski  təfəkkür və dilin inkişafı prosesi eyni 

zamanda davam etdiyini deyirdi. 

A) 1,2,3 B)2,3,5  C)1,2,5  D)1,4,5  E)2,4,5    

 

57. Sinif rəhbərinin tərbiyəvi planının bölmələrinin 

ardıcıllığını müəyyən edin. 

1.ümumi məsələlər, 

2. tərbiyəvi işlər 

3. valideynlərlə, ictimaiyyətlə və əmək kollektivləri ilə 

əlbir iş 

4.təlim əməyinin təşkili, 

5.şagird özünüidarə orqanları ilə iş, 

A)1,2,4,5,3    B)4,5,2,1,3  C)5,4,1,2,3  

D)1,4,2,5,3   E) 1,2,4,5,3 

 

58. Qeyri standart dərslərə aid olmayanı seçin. 

A) yarış dərsləri                B) fantaziya dərsləri 

C) dialoq dərsləri              D) məsləhət dərsləri 

E) mühazirə dərsləri 

 

59. Söhbət hansı pedaqoji cərəyanın 

nümayəndələrindən gedir. 

“Onlara görə dini görüş real bilikdən üstündür. Onların 

fikrincə, xarici aləmi dərk etmək üçün elm kifayət deyil, 

bundan ötrü ilahiyyat, ilahi qüvvəyə qovuşmağı 

bacarmaq lazımdır.” 

A) Ekzistensializm                 B) Bixeviorizm 

C) Neotomizm                       D) Praqmatizm 

E) Neopozitivizm 

 

60. Haqqında danışılan təlim  üsulunu  

müəyyənləşdirin. 

Əşya və ya hadisələri müqayisə etmək, onların oxşar və 

fərqli cəhətlərini müəyyənləşdirmək üçün bu üsuldan 

istifadə olunur.  

A) Ziqzaq                            B) İdeyalar xalısı   

C) BİBÖ                              D) Venn diaqramı  

E) Qərarlar ağacı 

 


